








11. With the aid of good well labeled diagrams, explain why

diamond has a “melting point” near 4000 oC while water has a

melting point of a mere 0 oC and yet the bonds between H and

O in water are 33% stronger than the bonds between C and C

in diamond.  Use the terminology that has been introduced in

this course where appropriate.

Diamond:
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|     |     |     |
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|     |     |     |

S all bonds are covalent intramolecular forces which must be

overcome in order to melt diamond (i.e. make small enough

particles to become a liquid)

S this force is very strong and therefore requires a lot of

heat (i.e. high temperature)

Water:

S only the week intermolecular force between water molecules

must be overcome to melt (i.e. water molecules are the small

units)

S the covalent bond is not affected (and therefore being

stronger than in diamond is of no consequence)


